
Αςκήςεισ ςτισ πράξεισ ρητών Β΄ Γυμναςίου 

1.  Να βρείηε ηις ηιμές ηων παραζηάζεων: 

α) 4 (3 2 4) 3 (2 5 6)        

β) 3 [8 4 ( 2 5)]       

γ) ( 1 3) [( 7) ( 2) 8 (3 5)]          

δ) (6 2) : ( 2) 12 : ( 4)     

ε) (3 9) :3 (7 11) : ( 2)     

 

2.  Να βρείηε ηις ηιμές ηων παραζηάζεων: 

α) 
4 ( 8) 6 ( 7) 11 0

9 5 7 ( 8) 3 ( 7)

       

       
 

β)
(8 7) 3 4 (9 13) 3 (7 2)

(2 6) : 2 5

       

 
 

γ)
5 1 4 4 7

:
4 3 6 ( 3) ( 7) 6 ( 2)

   
  
       

 

δ)
( 2) 6 ( 4) 5 3

:
10 2 6 4

     
  

   
 

ε)
4 1 1 2 1 1

1 :
3 7 2 3 3 15

       
              

       
 

 


